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IS T IS 15 I3 T fghe IS % S T S 1 (1) (22)
B 318 1,244, 888
1|+ GF ROPV6) 4 # (TPE) & GE %) (PVG) 5 1,024
2 | pre E(IST) Fo 4= 4 FI(ALA) £ # (TPE) % f (= (ICN) i 2t g (IST) 1 17,318
3 |earmE(IST) BE 2 (TAS) 1 # (TPE) % (= ")(ICN) i 2t F(IST) 1 17,979
4 |m#re E(ISD 1 # (TPE) #F (= )N & w1 i (IST) 2 17, 835
5 | s (KL + % (KCH) 5 & 3 (MNL) & # (TPE) 1 4,022
6 |% L 45ANO) %5 (%1 )(NRT) 4 # (TPE) 4 2,181
T |% 5 (ANO) % (= ")) 4 2 (TPE) % i (HKG) 3 8,372
8 |% w45 (ANO) % i (HKG) 4 # (TPE) 5 8, 939
9 |= s (ANO)  # (TPE) % 3% (HKG) 1 8, 298
10 |% 245(ANC) 1 # (TPE) F74c 1 (SIN) 1 10, 741
11 |% 2455 (AN 1 2 (TPE) 2.4 2 (CRK) 12 8,616
12 |2 #4205 (ANO) 1 55 (PEN) £ # (TPE) 5 13, 840
13 |2 % 783(CV6) % 5455 (ANC) %5 (%8 )(NRT) % f (= ")(ICN) 4 # (TPE) 1 13, 252
14 |22 785CV6) % 455 (ANC) 5 (=N 4 # (TPE) 1 12,578
15 |22 7000V0) %7 (%1 )(NRT) 5 # (=) (ION) 2 (TPE) 3 13, 210
16 |2 =% 755(CV6) %4 (%9 )(NRT) £ # (TPE) 1 12,703
17 |% % 7835.0CV6) % (= ")(ICN) 1 # (TPE) 1 12, 415
18 |47 (=9 )NRD) 1 # (TPE) 523k (OKA) 5 2,780
19 |% 3 (v )R 1 # (TPE) 2 2,140
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20 |4 # (HKG) % # (TPE) < B (KIX) 2 2,524
21 |4 % (HKG) 4 # (TPE) % 540 (ANC) 6 8,331
22 |4 % (HKG) 4 # (TPE) L& (29 )(NRT) 10 2,958
23 |4 % (HKG) % # (TPE) % i (HKG) 14 807
24 |% % (HKG) £ # (TPE) 4 813
2 }Sggé;ﬂﬁﬁ\ 4 (TPE) 7 I (HAN) f??é@éi““i 2 15, 750
26 |42 (TPE) s G ROPYG) 14 905
27 |4 # (TPE) 4 g (KIX) % 34255 (ANC) % 4B (ORD) % .45 (ANC) I (KIX) |4 # (TPE) 4 28,213
28 |4 (TPE) < R (KIX) % 74255 (ANC) 34 B (ORD) % 4255 (ANC) 4 # (TPE) 1 28,213
29 |4 # (TPE) 4 g (KIX) B 7. jF (0AK) § =87 (MEM) 8 12,917
30 |42 (TPE) % 3 (KUL) 2 3, 247
31 |44 (TPE) ¢+ B (NGO) 3 3 703k (CVG) 5 12, 339
32 |42 (TPE) % 34255 (ANC) 2 4= & (LCK) & 7 B (SEA) 4 # (TPE) 1 26, 272
33 |42 (TPE) % f. 495 (ANO) 2 4= 3 (LCK) % 4 # (ORD) % 5405 (ANC) 4 # (TPE) 1 25, 992
34 |42 (TPE) % 34255 (ANC) 2 4 = % (LCK) % 4B (ORD) & 7¢ B (SEA) 4 2 (TPE) 1 26, 466
35 |4 (TPE) % 540 (ANO) I # i+ (ATL) % 5 (ANO) + B (KIX) 4 # (TPE) 2 26, 186
36 |4 (TPE) % 405 (ANO) I ¥ 3 + (ATL) i # #7(DFW) % 74255 (ANC) £ # (TPE) 4 29,918
37 |42 (TPE) % 54 (ANO) I i ~ (ATL) i 4+ 27 (DFW) & & B (SEA) 4 # (TPE) 2 30,122
38 |4 (TPE) % 540 (ANO) ¥ 4c 8 (ORD) % 74255 (ANC) ~ B (KIX) % # (TPE) 1 28,213
39 |42 (TPE) % 5 (ANO) 3 4B (ORD) % 5455 (ANC) 4 # (TPE) 7 24,038
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40 | (TPE) % #4255 (ANC) 5 4: % (ORD) 5 5 F(SEA) % 24255 (ANC) 4 # (TPE) I 24, 551
41 & CTPE) % #4235 (ANC) 5 4: % (ORD) 7 7 I (SEA) 4 4 (TPE) | 27,776
42 |&+CTPE) % 34255 (ANC) 12 (LAY) 4 # (TPE) 4 22,316
43 | (TPE) % #4235 (ANC) 2428 (LAY) i & 1,(SF0) £ # (TPE) | 25, 399
44 |4 # (TPE) % 3,425 (ANC) = (JFK) % 74255 (ANC) 4 # (TPE) 6 29, 711
45 |4 4 (TPE) % #4235 (ANC) § 4D 6 12,583
46 |4 # (TPE) % 3,425 (ANC) 427 (DFW) % 74255 (ANC) 4 # (TPE) 2 24, 814
47 |4 CTPE) % #4235 (ANC) & 24(DFY) 54 7+ (ATL) % #4255 (ANC) 4 7+ (TPE) I 26, 574
48 |4 # (TPE) % 5475 (ANC) £ . #7(DFW) 34 (ORD) % 74255 (ANC) 4 # (TPE) 1 25, 786
49 |4 (TPE) % #4255 (ANC) e 3 (A kL 4 (TAID % #4235 (ANC) £ 2 (TPE) 2 32, 667
50 |4 4 (TPE) % %4255 (ANC) @t % (MIA) ¥ & 1 (SFO) £ 2 (TPE) 2 17, 685
51 |4 (TPE) ﬁ)w?; PESEE ke oRe) b & F (LU0 ﬁ)w?)ﬂ L R 2 95, 683
52 |4 (TPE) ﬁ)wz? PASEE |  E(FRA) 4 # (TPE) 1 24, 318
53 |4 (TPE) ﬁ)w?; PALEE s 1 13, 206
54 |4 4 (TPE) ﬁ)wzgﬂ B8 W I 6, 548
55 |4 # (TPE) # § (BON) 2RE KR | & ELU) 1 12, 860
56 |4+ (TPE) #F (BOW) L1 (CON) | 9, 409
57 |4 # (TPE) £ (+ 1 )(NRT) 6 3, 253
58 |4 # (TPE) % 7 (NKG) | 1, 284
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59 |4 (TPE) 242 (LAX) < R (KT 4 2 (TPE) 3 25, 164
60 |4 4 (TPE) 428 (LAY) ¥ £ 1, (SFO) £ 4 (TPE) 3 25, 399
61 |4 (TPE) 4588 (LAY) | 21, 884
62 |4 (TPE) b P (SON) = 1 (HAN) £ - (TPE) 2 6, 012
63 |4 (TPE) b P (SON) | 5, 063
64 |4 (TP # & (CKG) 2 2, 969
65 |4 (TPE) FRGE AN |% 2 ais(ANO) 4288 (LAY) | 11, 346
66 |4 (TPE) 4 3% (HKG) % %4255 (ANC) 3 3 705 (CVG) I 13, 946
67 |44 (TPE) % % (HKG) 34 1,083
68 |4 (TPE) 5 & 20INL) 4 % (HKG) 4 2 (TPE) I 3, 046
69 |4 4 (TPE) § 8RR EOBRK) |2 28 = % KRD | b & ELUD) 2 12,419
0 |44 (TPE) § 5 (%) (BKK) &ng% SRR e sema (MS) |8 G~ FOBKK) |4 4 (TPE) 2 24, 330
M |42 (TPE) § 5§~ %) BKK) |7 i CHAN) £ 2 (TPE) | 5, 139
72 |4 8 £ (R4 )(BKK) |4 # (HKG) £ 4 (TPE) I 1, 983
3 |44 (TPE) 4 (STX) 14 1,754
4 |& 2 (TPE) % 4e i (CGK) 15 5 (KUL) 4 2 (TPE) 3 8, 184
5 | &4 (TPE) B P (O s 891
76 |4 (TPE) #54c 5 (SIN) = i (HAN) 4 2 (TPE) I 7,007
7 |42 (TPE) #74c B (SIN) 5 % (HKG) £ 4 (TPE) | 6, 618
8 |44 (TPE) 372 5 (SIN) 5 & 420INL) 4 2 (TPE) 2 4, 330
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79 |4 (TPE) #7405 (SIN) § 5 (F~4 % )(BKK) |4 (TPE) 3 7,784
80 |4+ (TPE) #74c 1 (SIN) # 3% (PEN) 4 # (TPE) 1 6, 981
81 |44 (TPE) #7403 (SIN) 3 5, 630
82 |4 (TPE) 37 643 (OVB) Jg # F(LUX) 1 10, 982
83 |4 # (TPE) # % (NGB) 10 933
84 |4 # (TPE) i+ (FOC) 5 796
85 |4 # (TPE) R 1 (CAN) 9 2,083
86 |4 # (TPE) 4.2 (DEL) Fo b 242 (AMS) 4 7 (TPE) 1 23, 579
87 |4 (1PE) 2 (DEL) b & E(LUX) . e 2 22,103
88 |4 # (TPE) 42 (DEL) b 2 E(LUX) 4 7 (TPE) 1 21, 209
89 |4 # (TPE) #1 (CGO) 3 2,457
90 |4+ (TPE) H#3 (PEN) i (HAN) 4 7 (TPE) 3 4,300
91 |4 (TPE) 1 #5 (PEN) # AP (SON) 4 # (TPE) 1 7,624
92 |4 4 (TPE) # 35 (PEN) § 5 (g ~5 % )(BKK) |4 (TPE) 1 6, 599
93 |4 (TPE) 1 #5 (PEN) #7418 (SIN) 4 # (TPE) 3 7,303
94 | % EF(LUX) 2R = % (KRW) 4 # (TPE) 2 11, 524
95 | & F(LUX) % f (i= )10V 4 # (TPE) 1 10, 889
96 | & F(LUX) ot 2 #0(TBS) 2 RE = % (KRW) 4 (TPE) 1 11, 565




